TOGAF Enterprise Architecture Combined
Part 1 and Part 2

1. What is presented as "striking a balance between positive and negative outcomes resulting from the
realization of either opportunities or threats?

A. Agile development
B. Architecture Security
C. Transition Management

D. Risk Management

Answer(s): D

2. Which of the following are the four purposes that typically frame the planning horizon, depth and breadth
of an Architecture Project, and the contents of the EA Repository-?

A. General Foundational Subordinate and Superior Architecture

B. Segment, Capability. Enterprise and End-to-end Target Architecture

C. Avant-Garde Big-Bang, Discreet and Cohesive

D. Strategy Portfolio Project Solution Delivery

Answer(s): D

3. Complete the sentence Business Transformation Readiness Assessment is

A. a joint effort between corporate staff lines of business and IT planners

B. to ensure the active support of powerful stakeholders

C. a way to put building blocks into context thereby supporting re-usable solutions

D. widely used to validate an architecture that is being developed

Answer(s): A




4. Complete the following sentence. In the ADM documents which are under development and have not
undergone any formal review and approval process are

A. Called “'draft"

B. Invalid

C. In between phases

D. Known as 'Version 0.1"

Answer(s): A

5. Complete the sentence The TOGAF standard covers the development of four architecture domains.
Business. Data, Technology and

A. Segment

B. Transition

C. Capability

D. Application

Answer(s): D

6. Which of the following are interests important to the stakeholders in a system?

A. Requirements

B. Principles

C. Concerns

D. Architecture views

Answer(s): C

7. What is an objective of the ADM Implementation Governance Phase?

A. To provide continual monitoring of the governance framework

B. To ensure conformance for the target architecture

C. To finalize the Implementation and Migration Plan



D. To establish the resources for architecture governance

Answer(s): B

8. In which part of the ADM cycle do building block gaps become associated with work packages that will
address the gaps?

A. Phases G and H

B. Phases F

C. Phases B C and D

D. Phase E

Answer(s): D

9. Complete the following sentence:
Presenting different and to stakeholders helps architects to extract hidden agendas
principles and requirements that could impact the final Target Architecture

A. Alternatives Trade-offs

B. Solutions Applications

C. Architecture Views Architecture Viewpoints

D. Business Scenarios Business Models

Answer(s): A

10. Complete the sentence The purpose of the Preliminary Phase is to

A. describe the target architecture

B. define the enterprise strategy

C. identify the stakeholders and their requirements

D. architect an Enterprise Architecture Capability

Answer(s): D

11. What provides context for architecture work, by describing the needs and ways of working employed by
the enterprise?



A. Architecture Contracts

B. Business principles business goals, and business drivers

C. Strategy and vision

D. Stakeholder needs

Answer(s): B

12. Consider the following statement:
According to the TOGAF Standard a governed approach of a particular deliverable will ensure a system of
continuous monitoring to check integrity changes decision-making and audit of all architecture-related
activities
Which deliverable is being referred to?

A. An Architecture Contract

B. The Architecture Definition Document

C. The Architecture Vision

D. The Statement of Architecture Work

Answer(s): A

13. Complete the sentence A business scenario describes

A. shortfalls between the Baseline and Target Architectures

B. business domain gaps such as cross-training requirements

C. business and technology environment in which those problems occur

D. general rules and guidelines tor the architecture being developed

Answer(s): C




14. Refer to the table below:

Phase Output & Outcome

Essential Knowledge

Sufficient documentation to get
permission to proceed.

? Permission to proceed to develop a
Target Architecture to prove out a
summary target.

Which ADM Phase does this describe?

A. Phase A

B. Phase B

C. Preliminary Phase

D. Phase C

Answer(s): B

The scope of the problem being addressed.

Those who have interests that are fundamental to
problem being addressed. (Stakeholders & Concen
What summary answer to the problem is acceptab
to the stakeholders?

Stakeholder priority and preference.

What value does the summary answer provide?

15. Which statement about Requirements Management is most correct?

A. The purpose of Requirements Management is to process change requests

B. Stakeholder requirements are captured once in Phase A and managed throughout the ADM cycle

C. Requirements Management is a step of all ADM Phases

D. Requirements Management and stakeholder engagement are placed at the center of architecture development

Answer(s): D

16. Consider the following ADM phases objectives.

Objective

1 Ensure that the business value and cost of work packages and Transitic
Architectures is understood by key stakeholders

2 Ensure conformance with the Target Architecture by implementation
projects

3 Ensure that the architecture development cycle is maintained

4 Ensure that the Architecture Governance Framework is executed

Which phase does each objective match?



A. 1F-2G-3G-4H

B. 1H-2F-3F-4G

C. 1F-2G-3H-4H

D. 1G-2H-3H-4F

Answer(s): A

17. Consider the following statements

1 A whole corporation or a division of a corporation

2 A government agency or a single government department 3 Partnerships and alliances of businesses
working together such as a consortium or supply chain What are those examples of according to the TOGAF
Standard?

A. Enterprises

B. Business Units

C. Organizations

D. Architectures Scopes

Answer(s): A

18. Complete the sentence When considering agile development Architecture to Support Project will identify
what products the Enterprise needs the boundary of the products and what constraints a product owner has.
this defines the Enterprise's

A. operations

B. backlog

C. workflow management

D. lifecycle economics

Answer(s): B

19. Which of the following is included as part of Architecture Governancel?

A. Ensuring compliance with internal and external standards and regulatory obligations

B. Creating and maintaining the Statement of Architecture Work though out the ADM cycle



C. Managing Stakeholders and their requirements

D. Interacting with the CxO level on Enterprise Architecture

Answer(s): A

20. Complete the sentence The Enterprise Continuum provides methods for classifying architecture artifacts
as they evolve from

A. Solutions Architectures to Solution Building Blocks

B. generic architectures to reusable Solution Building Blocks

C. Foundation Architectures to re-usable architecture assets

D. generic architectures to Organization-Specific Architectures

Answer(s): D




